AREA BOUNDED BY THE CURVES

1. The area region bounded by the parabolas y’=4ax and x’=4ay is

16a? 32a? 9a?
= b) - c) = d) none
3 3 2

a)
2.The area enclosed between the parabolas y?=4x and x*=4y is

a)% sq units b) 16 sq units c) % sq units d) % sq units
3. The area enclosed between the parabolas y?=6x and x*=6y is

a) 12 sq units b) %sq units c) 36 sq units d) none of theses

4. The area inside the parabola y’=4ax between the lines x=a and x=4a is

28a? 56a?
d)
3 3

a) 4a? b) 28a? c)

5. The area bounded by the parabola y’=4ax and the line x=a and x=4a and x-axis is

35a2 4a? 7a? 28a?
a b)i c)i d) a
3 3 3

3

a)

6. The area of the figure bounded by y=Cosx and y=Sinx and the ordinates x=0 and x:% is
1 1
a);(vV2-1) b) v2-1 d)v2 +1
7. The area bounded by y=log. x, the x-axis and the line x=e is
1 1
a)l b)1—; c)1+; d)e
8. The area of the region bounded by the parabola y=x*+1 and the straight line x+y=3 is given by,
45 25 T 9
9. The area of portion of the circle x*+y’=64 which is exterior to the parabola y’=12x
a) 2 (47‘[ - \/§) sq units b) E (87T - \/§) sq units
3 3
b) % (8 + \/§) sq units d) none of these

10. The area enclosed between the concyclic circles xX*+y’=4 and x*+y*=9 is

a) 57 sq. units b) 4m sq. units ) 91 sq. units d) 367 sq. units
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. Area bounded by the curves y=log x, y=log[x|, y=/log x| & y=|log [x]] is

a)4 sq. units

.The area bounded by the curves y=x & y=x’ is

a)1 sq. units

b) 6 sq. units

b) ¥ sq. units

c) 10 sqg. units

c) 2 sq units

. The area bounded by the curves [x] + [y] =1 and X*+y’ <1is

a) 2 sg. units

b) 1 sqg. units

c) (m-2) sq. units

d) none o f these

d) none of these

d) none of these

. The area of region bounded by x’=16y & x=0and y=1, y=4 and y-axis in the 1% quadrant is

64 .
a) < Sq.units

5 .
b) ?6 sq.units

16 .
c) < $q.units

.The area of the region bounded by y=x*-5x+4 and x-axis is

3
a)z

b)g

7
C)E

. The area enclosed by the parabola y’=16x and its latus rectum

108 .
a) — Sq.units

. The area of smaller segment cut off from the circle x*+y’=9 by x=1 is

b) ? sq.units

a) % [9sec™ 3 — /8] sq.units

c) [V8 — 9sec™ 3] sq. units

128 s
c) —~ Sq.units

d) - sq.units

d)g

d)g sq.units

b) [9sec™' 3 — V8] sq.units

d) none of these

. The ratio of which the area bounded by the curves y?=12x and x’=12y is divided by the line x=3 is

a) 15:49

b) 13:48

c)12:37

. The area bounded by y=ax” and x=ay’ (a>0) is 1 then ‘@’ is

a)1

a)% sq.units

b) =

The area of the region { (x, y): X’+y’<1< x+y}

b)% sq.units

1
C)g

2
T .
c) ~ Sq.units

. Area of included between the curves y=x’-3x+2 and y = -x*+3x-2 is

1 .
a) - 5q.units

b)% sq.units

c) 1 sq.units

d) none of these

d) =
d) (%— %) sq.units

d)% sq.units



22.The area bounded by the curve y=e™™!, x-axis and the lines x=-1 and x=1 is
a) (e-1) sq. units b) 2(e-1) sqg. units c) (e - é) sg. units d) none of these
23. The area bounded by the curve x*=y+4 and the lines y=0 and y=5 is

16 . 76 . 20 .
a) < $q.units b) < 5q.units c) < $q.units d) none of these

42
24.The area region bounded by x=a cos and y=a sin orx=a[i+:2] &y=a[1ittz] is
a) 2ma’ b) ma’ c) 2na d) ma

2 2
25. The area of the region bounded by x=acos and y =bsin , i.e. z—z + Z—Z =1 (a>b)is

a) 2mab b) mab c) 4mab d) ab



